Name: _____________________________
Day of Lab:
M
W
College Chemistry 

Test 1 – 09/16/08
Version B
1. Name the compounds for which a formula has been given or give the formula for the name given. (20 points)

a.   Sc2(SO4)3




f.   HF (aq)

b.   Titanium (IV) selenide


g.   Iodine heptafluoride

c.   Carbonic acid



h.   Mo(OH)5
d.   Potassium dichromate


i.   S2O3
e. (NH4)3N




j.  PbCr2O7
2. Circle the value that identifies the number of significant figures in each of the following: (10 points)

2010



2

3

4

3 or 4



0.030510


2

3

4

5


100.



1

2

3

1 or 3


101.0


1

2

3

4


1.90 x 106


3

4

6

7

3. Fill in the table below. (8 points)
	Symbol
	# protons
	# neutrons
	# electrons
	Atomic #
	Mass #

	
	9
	
	10
	
	19

	
	42
	55
	
	
	

	
	
	16
	
	14
	

	207Pb4+
	
	
	
	
	


4. Calculate the average atomic mass for magnesium given the following information: (7 points)
	mass number 
	exact weight 
	percent abundance 

	24 
	23.985042 
	78.99 

	25 
	24.985837 
	10.00 

	26 
	25.982593 
	11.01 


5. For each of the following circle the element that answers the question. (7 points)
a. Circle all noble gases.

H     Na     Zn     Ne     Cr    Xe   Cl

b. Circle all metals.

H     Na     Al     Kr     Cr     B    Bi

c. Circle all nonmetals.

H     Na     Se     Ne     Cr     I

d. Circle all alkali metals.

H     Na     Ca     Ne     Cr     I

e. Circle the element with the highest melting point.

F    S    Ba    Si

f. Circle the most reactive non-metal

Br    F    O     He

g. Circle all elements in group 5.

V     Rb     Pd     Ta     I    

6. My daughter was running a fever of 102.2oF, what was her temperature in Kelvins? (6 points)
7. How should the answer to (8.21 – 8.12) x 1.23, be reported if it is reported o the correct number of significant figures? (5 points)
8. What mass of ammonium carbonate, (NH4)2CO3, was heated if 11.333 g of ammonia, NH3, 6.000 g of water, H2O, and 14.667 g of carbon dioxide, CO2, was produced according to the following reaction? (4 points)
2 (NH4)2CO3 (s)  →  2NH3 (g)  +  CO2 (g)  +  H2O (g)

9. Indicate whether each of the following is an element, a pure compound, a homogeneous mixture or a heterogeneous mixture by circling the appropriate answer.  (5 points)
Oil and Vinegar 
element    compound   heterogeneous   homogeneous


   dressing




      mixture
        mixture

Sodium bicarbonate
element    compound   heterogeneous   homogeneous


    Na2CO3




       mixture
        mixture

Platinum

element    compound   heterogeneous   homogeneous








       mixture
        mixture


Coal


element    compound   heterogeneous   homogeneous








       mixture
        mixture

Laundry detergent
element    compound   heterogeneous   homogeneous








       mixture
        mixture

10. What is 0.000 000 67010m when written in scientific notation? (5 points)
11. To the correct # of significant figures, what is the volume, in mL, on the following 25 mL graduated cylinder? (4 points)
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12. How many barns are present in 20 acres? (8 points)

66.890 are = 2 acre


600 cong = 10 bovate

0.978 arpent = 1 acre


5.5 x 1032 barns = 55 cong

2 cong = 20 are


1.2963 carreau = 5 acre

1 bovate = 600 are


3225 are = 25 carreau

14.302 bovate = 251 arpent
13. An unknown has a mass of 7303 cg.  If the water level in a graduated cylinder rose from 3.22 mL to 9.66 mL, what is the identity of the unknown? (6 points)
	Substance
	Density (g/mL)
	Substance
	Density (g/mL)

	Butane
	0.579
	Titanium
	4.50

	Ethanol
	0.789
	Zinc
	7.14

	Benzene
	0.880
	Iron
	7.86

	Water
	0.998
	Nickel
	8.90

	Bromobenzene
	1.49
	Copper
	8.93

	Magnesium
	1.74
	Lead
	11.34

	Sodium chloride
	2.16
	Mercury
	13.55

	Aluminum
	2.70
	Gold
	19.32


14. Balance the following reaction. (5 points)
_____ AlCl3 (aq)  +  _____ K2CO3 (aq)   →   _____Al2(CO3)3 (s)   +  _____ KCl (aq)
Formulas and Conversion Units
K = oC + 273.15

oF = 1.8 (oC) + 32

average atomic mass = Σ (isotopic mass x abundance)
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